>> CSTA Launchpad << Technical Competitive and Academic classes (ITl, Polytechnic, Engineering) ‘5}0'0

Add: Gurunagar Teacher colony, Bhadrawati (MH) Website: cstalaunchpad.in | omgfreestudy.com

< 7,

Transformer IMP MCQs for Technician Electrician | f&€t + English

www.cstalaunchpad.in

s, |
52

| A

—_—
JOIN NOW '

1. The friction losses in real transformers are ___
aRafde uRonfas & oot gfar Eidt @

(@) 30%

(b) 75%

(c) 0%

(d) 50%

Ans : (¢)

2. Silica gel breathers are fitted with glass so that
the colour of crystal is visible. When crystal absorbs
moisture it changes its colour from blue

to_____ . T & 91 fGfciat siat sfieR fose fdsar strar
8 alfds fobeeat &1 37 féars qar 8| fobeedt stq Tt
RS B oidT & ad 39T IT el  dgaT R
fafafaa e smar

(a) red oTel

(b) pink T[eTreft

(c) orange ARt

(d) white I

Ans : (b)

3. A transformer is a device which____. T gfRomfaa
TH b e s____

(a) Changes AC to DC | AC @I DC ® uRRafdd @dl &
(b) Converts DC to AC | DC &Y AC ® gRafdd axdt &
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(c) Step up and down AC voltages and currents ¥4
319 3R 3139 AC fava aT RT3 &

(d) Step up and down DC voltages and currents &4
3T 3R 3137 DC fava q2m urmi &f

Ans : (¢)

4. The function of transformer oil in a transformer is
to____ CiGWIsR H g 3i1el &l &1 &

(a) provide insulation and cooling $geRA 3R FHciT
GGl

(b) provide protection against lighting faTeft fiza
& faog gam e

(c) provide protection against short circuiting ___
27¢ Tfdhe & fase TR Ue™ &AT

(d) lubricate the moving parts JIfGHTA 371 & dfsidse
BT

Ans : (a)

5. Transformer cores are laminated to

TeH & feie far sirar 2

(a) eddy current loss HaR ¥RT g1fA41

(b) hysteresis loss feeedfaa arfaai

(c) both eddy current and hysteresis loss HeR URT
3R RRAfg arfiai St

(d) ohmic loss &t grfFai

Ans : (a)
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6. Copper loss in a transformer occurs in SAHIAT &
BIR gl Fafafaa A 8di € ..

(a) core BR

(b) windings aT&fsam

(c) main body AT €&t

(d) bushings gfepT

ANS : (b)

7. In a transformer, the insulation resistance
between the primary and secondary must be ____
ST & ATt 3R et & ot Seier wfady Bar
2.

(a) zero [

(b) 1KQ

(c) 100 KQ

(d) infinite 31Hd

Ans: (d)

8. A transformer works on____ ¢igwrR Aafafad
R P BT 8

(a) ac supply only ddeT T.ET. TS

(b) ac and dc supplies ¥:&T. 3R f2. 2. GwITs

(c) dc supply only &ad fe. ot I

(d) none of these 3TH A BI$ T&l

Ans : (a)

9. For an ideal transformer, the efficiency should be

greater than____. 31cef gigwrRk & gerar fAafeifda
b 3fde Bt arfde ___

(@) 95%

(b) 98%

(c) 90%

(d) 80%

Ans : (b)

10. Which of the following qualities is not required
for a good cooling liquid in a transformer? giAWHIH

¥ 37<8 2ffdet g & feiv FHufeifad # &1 a1 o1 &
HTARYS Al 82

(a) Should have excellent insulation resistance
3feid SgARA UfaRiy

(b) 'Should have better heat conductivity S8R 38T
dleThdl

(c) Should have low viscosity 7 2amdr

(d) Should absorb moisture easily when exposed to
air §dT # WA R TeTdgded HTcidTl 3eRiTyoT|

Ans : (d)

1. Buchholz relay protects transformers from____
gaatest et giawiR &t fRufeifad & e aar e.

(a) all types of internal fault Tt fe & 31TaR® gy
(b) turn to turn fault &f § e d& Iy

(c) winding to core fault aTSf3T A P db eIy

(d) core to winding fault 3 & a15f3 d S

Ans : (a)

12. The transformer ratings are usually expressed in

terms of_____ . ST e oY 3mdR W fFAafafaa
# oh fdsaa STTaT 8

(a) volt AT

(b) amperes TR

(c) volt amperes diet TARR

(d) watts d1€

Ans : (¢)

13. Which winding in a transformer has more

number of turns. giABIER B g arsfem & anf &t
T Afed gidl 82

(a) Primary winding YTSH:} amsfaa

(b) Secondary winding Tdsdt arsfsmm

(c) High voltage winding 3& et arsf3m

(d) Low voltage winding {7 aleesT arsfsm

ans : (c)
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14. Leakage flux in a Shell type transformer, with
respect to core type transformeris____ @R 28U
CIABTHR ot gotT | 21eT <TsU giwhTAR | eiidsst Trefend
(a) Less BH EIAT &

(b) Equal SRTeR EXdT &

(c) More SITET €dT 8

(d) Cannot be determined fAefRa =&t 5T gwar &
Ans : (a)

15. To determine iron losses in a transformer ____ _
test is performed. SIAHTHR # &g M (iron losses)
_____ & far strar 8|

(a) No-load TI-&i1g
(b) Overload 3feReils
(c) Open circuit eIl TRTY
(d) Short circuit IRu2 gy

Ans: (¢)

16. The transformer works on the principle
of____. giI®R - S Agid R M dare __
(a) Ohm's law 3TFT T .

(b) Fleming's left hand rules FRfAIST AUE 835 B
(c) Kirchhoff's current law fdsai® &I URT fHa9
(d) Faraday's law of electromagnetic induction
ST 71 371 Seldm Al S5aMA

Ans : (d)

(d) three phase supply into two phase supply &

TROT 3TYfd & ot aRoT &Y 3Tgft

ans: (d)

18. In a transformer, with change in frequency:
BT # 3Tgfd # dcerd & a1

(a) Copper losses increase did @i effdal g6 STdt € |
(b) Copper losses decrease did @t effaat &H & 3iTd!
8

(c) Copper loses remain unchanged dis &t effaai
3uRafda w&dt

(d) None of these &1/ & B8 A&l

Ans : ()

19. Which loss in a transformer varies significantly
with load ZRIBIH # ®H-3t affd HR & 3R sifeld
dceldt 8?

(a) Hysteresis loss fe&efqq e1fd

(b) Eddy current loss HeR YRT &1

(c) Copper loss atdT &1

(d) Core loss BR &1

Ans : ()

20. In a step-up or step-down transformer,
electrical power is transferred from one circuit to

another without change in_____

17. Scott connections are used to transform : TpIc

(a) single phase supply into three phase supply
Uhel Bl HTYdl bl did TRoT

(b) single phase supply into two phase supply Thel
W51 AT Bl & ko7

(c) star connected primary into delta connected
secondary TR Tufd ureifded &Y SeeT Hufdhd fgdias
H

313 iR H, fdg[d 2Ifb ........H URadd & far va
Ry & gER uRY & TAiaRd edl &

(a) voltage aleedr

(b) current YURT

(c) frequency ATgfd

(d) capacitance uTRdr

Ans : (¢)
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21. the potential transformer used for measurement

of high voltages: TAWBIHR BT 39N 3 dleedl HTYT
eq fearsmare

(a) has large number of turns on the secondary side
5 fgdiad # oTuel &bt 4% sifeid gidt

(b) is a step up transformer T ¥U-31T ¢iAHBIH dl
€

(c) is connected in series with the line 31t @87 &
uft § Gaif5id gar e

(d) has large number of turns on the primary side
Fads wrafie A oract &t @@ ifee gidl

Ans : (d)

22.A.... acts as a safety relay in a transformer. T

CABHR H ... qu¢t Ret 6 aie B HaT €.
(a) Explosion vent BRIt 510 dc

(b) Air duct TIR sd¢

(c) temperature gauge FRTR 151

(d) Buccholz relay sRdtest Rl |
Ans : (d)

23. Transformer tapping switch connected to ___ _
winding. ST O & faog angfs & 51 ghar 21
(A) Primary winding . WTifAe arsfsm 3 ..

(B) secondary Winding fgfadiaes arsfem &

(C) Both primary and secondary windings WTfAd
3R fefadtre afEn oA d

(D) Direct HT Line T HT @Te7 &

ANS :- (B)

24. Which of the following for synchronizing two
transformers What is the main condition? &l
SRABIHR Bt qeadifaidar & fae fa & oA It wa
2rd 82

(A) Speed and load must be equal. 7Tfd 37k HR SRTER
BRI

(B) Speed, frequency and load must be same.

7fd, 311gfd 3R WR U FHH 817 fEe|

(C) Speed and excitation voltage should be same.
7fd 3R 35T AT THHA &R afe|

(D) Frequency, voltage and phase sequence should
be same. T, dleesT 3R 31 3 HH HHHE &R T1fEE|
ANS :- (D)

25. A possible 3 to 3 phase transformer connection
for parallel operationis_____ AR Yt & fae
YT 3 T 3 BaT CRABIH HeEd &:

(A) Star-Delta to Star-Delta &R-3¢eT 4 T&R-3¢TT

(B) Star-Star to Star-Delta TR-%R & WTR-3¢el

(C) Delta-delta to star-delta 3ceT-scel & TR-3¢e]
(D) Star-delta to delta-star TR-3eCT § SeTl-ICR
ANS :- (A)

26. The loss due to the winding resistance is called
+evnr.. ATSIET UfRYES & BROT BN TGt FTA B ...... BET
Sirar 2|

(A) Eddy Current Loss T&! &3¢ g1f7

(B) copper loss dfdT &1f7

(C) loss of iron @te &t &1fF

(D) hysteresis loss fexeReta erft

ANS :- (B)

27. Which of the following losses in a transformer is
very high in the blocked rotor test of an induction
motor? iAHIH A 817 a1l 377 A BHAT JhaH
$STM HIY & &clids e} ¢ H ggd 3ifeld gt 8?

(A) core loss BR a1

(B) Copper loss IR a1

(C) Fictional loss T2t &@Tg

(D) windage loss fa3s1 arg

ANS :- (B)
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28. Copper losses in a transformer are due to:
SIABIAR # Bl B1fEgi FAufeifad # edt &

(A) core I3

(B) winding STSfST

(C) Main Body A &g}

(D) Bushing gfepT

ANS :- (B)

29. The reduction of copper is negligible at .............
BIR B BHT v R 0 &

(A) 1/4 weight 1/4 IR

(B) half the load 31TE R

(C) no-load A-&11g

(D) full load gof ¥R

ANS :- (C)

30. Ratio of loss of iron to loss of copper in a power
transformer T fasTelt SiaBIHR & dia &t &ifd & feiv
e bl &ifd o1 31guTd

(A) 11

(B) 1:2

(C) 211

(D) 1:3

(E) 3:1

ANS :- (A)

31. The potential transformer is used to reduce the
high voltage to a safe value for the operation of
voltmeter. The primary has____ diceHleR & UdTed
& foe fava giawisR &1 99T 3 dleest ®f fR1ug
IS b Te & fae faar sTrar 81 UTsHst # U bt
TS Ed 8 __

(a) Less number of turns than secondary st &
U] ol &1 q BH

(b) More number of turns than secondary ds< &
U bt It I 31feid

(¢) Infinite number of turns 3Hd B3I & G&T

(d) no turns 37 B &I Bl

Ans : (b)

32. Iron core of power transformer is laminated to
reduce _____ UTeR ¢IIWhIHR & @18 this # Jead &
&1 A5 fFafefdd gemr glar 8

(a) Copper losses BITR &TfFAT

(b) Hysteresis losses fexedifaq erfai

(c) Eddy current losses HaR ERT &A1

(d) Hysteresis and eddy current losses f8@efad 3iR
HeR YRT ETfHAt

Ans : ()

33.The friction losses in real transformers are
IRdfdes aRonfas & ot gt €idt 2

(a) 30%

(b) 75%

(c) 0%

(d) 50%

Ans : ()

34. A transformer is a device which, T GRUTIRA Th
g2 M...

(a) Changes AC to DC | AC @I DC ® uRRafdd &dt &
(b) Converts DC to AC | DC &Y AC B uRafdd &dt &
(c) Step up and down AC voltages and currents ¥4
317 3R 313 AC fava q2r eris &

(d) Step up and down DC voltages and currents &4
3T 3R 3137 DC fava a1 yRmi & .

Ans : (¢)

35. Eddy current losses in a transformer core can be
reduced by_____
fufcifad gRT gerg 5 adbd! 8

(a) increasing thickness of laminations Ueat! &1
HICTE §T X

(b) increasing air gap in the magnetic circuit iﬁﬁﬁ'&r
URuel # a1 3RTeT 961 B
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(c) decreasing thickness of laminations 9ea! &t
HIeTS TeT Y

(d) reducing air gap in the magnetic circuit gaaﬁu
URYel # g1y 3a’TeT =T I

Ans : (c)

36. The condition for maximum efficiency for a
transformeris_____
& faearde

(a) hysteresis loss = eddy current loss/ fé&efaq g1fd
= HeR YRT 81

(b) core loss = iron loss/ ®R &7 = &g &1

(c) copper loss = iron loss/ BIWR & = g &7

(d) total loss = copper loss/= ®BIUR &7

Ans : (¢)

37.The material most suitable for manufacture of
the core of transformeris_____ CIAWBIH 6T IS
I & foIC Ted 39D a8

(a) hot rolled grain oriented steel a¥ dfceid @07
fa=a&d s&urd

(b)cold rolled grain oriented steel 37ad dfceid BOT
fa=a&d s&urd

(¢) cast steel/cTdi ST

(d) none of these/&TH § BIg T&T

Ans : (b)

38. Which winding in a transformer has more

number of turns? T giAHTHR & B Tt arsfsm &
AT} bl G 3fEld 87

(a) Secondary winding /fgdtae arsfso

(b) Primary winding /sTifRes arsfsi

(c) High voltage winding /&Ts a1 aTsfam

(d) Low voltage winding /& aledsT dT&fSiT

Ans : (c)

39. Phase difference between primary and
secondary winding of a transformer is : T ZiIBIHR
&t wfies 3R fgdtad arsfemn & dfta Ut 3R @ :
(a) 180°
(b) 150°
(c) 130°
(d) 120°
Ans: (a)

40. Which statement is correct regarding an
instrumented transformer. T I CRABTHR & G&E
H B T BT T 2l

(a) None of the following options. {78 fad®edi & 4
®Is T

(b) The current transformer is connected in parallel
to the primary line. &R SiAWIHR (current
transformer) &1 UTAfH® (primary) @Te & HIGR A
S1ST STTdT &.

(c) Primary of potential transformer is connected to
ground TICRIIS gRABTHR &1 UTAfAdht 4 A 3t Edt &
(d) The secondary of the current transformer should
never be open. YRT ¢iAHBTHR BT fgdiad (secondary)
BHt HT T (open) AT EHT AMEE |

Ans : (d)

41. Which condition is necessary for parallel
operation of single phase transformer? ICHGREE]
SIAWBIHR & TR UTe (parallel operation) & fdE
B T A 3TaRTD &7

(a) Same polarity sRTSR ¥ddT (Same polarity)

(b) Same current ratio SRTSR YRT 3{JUTd (Same
current ratio)

(c) Same voltage ratio &RTeR dleedl 3UTd (Same
voltage ratio)

(d) Same kVA rating sRTeR kVA IfFafRoT (Same kVA
rating)

Ans: (a)
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42. What is the function of the breatherin a
transformer? ¢iGWBTHR # YTP (breather) &1 T BT
2?

(a) increase ventilation dTg ATAPTHA dGMHT

(b) indicate level of oil dcT &I Tde TaaTHT

(c) absorb moisture 3TgdT FRaAT

(d) reduce temperature dIUhH BH Bl

Ans : (¢)

43. When two transformers are operated in parallel,
on what basis do they share the load? Gl giHIHR
579 gHiaR A U=Ifeid €1d € (parallel operation) af a
MU § YR a5 3R R & (share) 872

(a) on the impedance of the coil &gel &l

gfdemer

(b) on kVA determination | kVA IfFaufRor o

(c) at frequencies 3Tgfadl W

(d) on efficiency | G&IdTWR

Ans : (b)

44, The ratio of the secondary turns to the primary
turns of a current transformer is 10 : 1. If the current
measured in the secondary is 2A, then the primary
current will be.

ot Pic TiawinR & Abusd o, ursHd & e &1
3UTd 10 : 121 AfS A # ATAT IRT BiC 2A &, dl
UTSH dc EP

(A)2A

(B) 5A

(C) 10A

(D) 20A

(E) 30A

Ans : (D)

45, If the full load copper-loss of the transformer is
6400 watts. So the copper short fall of half the load
will be ...

Ife g BT qouf R did-g1fF 6400 d1c 2. Y 31T

(A)5000 w
(B)4asoow
(C)3600W
(D)3200W
(E)1600W

Ans: (E)

46. A transformer has a 200-turn primary winding. If
a voltage of 240V is supplied across the winding
and the maximum flux is 5mwb, then what will be

the frequency of the given voltage?

T uRonfaA ® 200-ad7 wrafhe arsfson 1 af arsfsm
# 240V BT dicest faar siTar @ 3iR 3iftidan sifiare
smwb 2, a1 €1 7 dleear B qf fesarft @tz

(A) 54 Hz

(B) 84 Hz

(C)91Hz

(D) 78 Hz

Ans: (A)

47.1-%31 9RUTIAA (transformer) # 400 WTIfAd 3iR
1000 fgctads ad €1 PR & Y FTIRY-BIC BT AP
60 cm 21 IfS Wi 3 500V W 50-Hz HF 3mgfd
T 31 8, A gl Psad (arsfem # 9Rka aiees sta
Hifie|

(A) 12.25V

(B) 13207

(C) 1250 V

(D) 13.20v

Ans: (C)

48. If the transformation ratio of a transformer is 0.2
and emf in the primary coil is 220 V, the emf across

the secondary coil will be: If¢ fddt giaHBIHR &1
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SIAIARMA 3UTd 0.2 2| Td UTAfAdb $3er BT emf 220
V 8, @t fgdtas $eeit & emf BT A & 21172

(@) nov

(b) 1100V

(c) 44v

(d) 440V

Ans : (C)

49. A transformer adds a sinusoidal flux of 100 mwb
(max) with 10 turns of the secondary. Calculate the
rms value of the induced emf of the secondary.
Supply frequency is 50 Hz

www.cstalaunchpad.in

T giABIR fgdlad bt 10 952 & F120 100 mwb
(1fEidban) BT b SATahia Uetdd S13dT & | fgdiad &t
URd emf & rms A &1 URBeA HIfT | Helrs g
50 Hz &

(A) 222V

(B) 444V

(C) 666V

(D) 888V

Ans: (A)
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